قراءات ومطالعات

بسم الله الرحمن الرحيم
*يجب مراجعة ما تم أخذه في كل اسبوع وقبل البدأ بالمحاضره الجديده لأنها تابعه لما قابلها
1-فهم المعنى من صياغ الجمله :تابع 
[image: 1]
اذا لم جد في الجمله أي من الإستراتجيات السابقه نبحث عن الكلمات التاليه: 
Instance-such as-among them
اذا وجدت احداها فما بعدها هو معنى لما قبلها او يشرحها مثل المثال الموجود بلأعلى
فـ كلمة developing countries  بعضنا لا يعلمها وجديده بالنسبه له 
واتت بعدها كلمه such as  فيكون مابعدها هو معنى للكلمه الجديد هاو شرح لها 
هنا اتى بعدها الهند ونيجيرنا ونحن نعرف ان الدولتين ليستا بغنيتين فـ يكون معنى الكلمه (دول ناميه-غير غنيه-فقيره)

2-بعض الأحيان تكون هناك كلمه وعكسها أي المضادات 
فـ تكون الكلمه الجديده موجوده وبعد النظر الى باقي الجمله نجد عكسها
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3-التعريف definition 
يعطني معنى الكلمات والكاتب يستخدم هذه الإستراتيجيه في الفقرات مثل مفاتيح الكلمات 
لذا يجب النظر الى هذه المفاتيح منها:
Newn as-is considered-is defined-thet is-in other word-is
فكلها تأدي نفس الغرض أي بمعنى اخر او بطريقه اخرى 
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الكلمات الجديده اما ياتي بعدها علامة من علامات الترقيم ثم المفتاح او المفتاح مباشره




التفاصيل المساعده: 
اما تكون امثله او معاني او شروحات خاصه بالفكره الرئيسيه
التفاصيل المساعده:هي جمل تساعد في مساندة الفكره الرئيسي هواما تكون تفاصيل لحدث او شروحات او معاني
وتأتي بعد الفكره الرئيسيه

[image: 7]

Italics   الخط المائل
يستخدم لهدفين :1-تعريف فكره او اسم او معلومه     2-كلمه غريبه في الإنجليزيه واحيانا ليست منها
*في الأختبار ستكون هذه الكلمات مائله 
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فهم المضادات contrast :
بعض الأحيان يستخدم الكاتب المضادات ليشرح فكره وفي بعض الأحيان يبدأ بمعنى المضاد الذي يقصده
وتستخدم هذه الطريقه لسببين:
1-جمع الضدين   2-توضيح الضدين
وبعض المضادات يشار لها بحرف عطف مثل 
While-although –even though 
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لا نستخدم but  مع هذه الحروف فهذا خطاء كتابي 
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في الأختبار من الممكن أي يذكر لنا الدكتور مثل الجمله السابقه ويذكر فيها but  وستأتي ع شكل صح وخطاء
ملاحظه:
من الممكن ان نجد كلمه albeit  وهي تؤدي نفس الغرض وتأتي قبل adj-adv- adverbial phrase
صفات-احوال-العبارات الظرفيه
[image: 12]
استراتيجيه المسح scanning: استراتجيه مهمه
فهي تختلف عن التفحص
فـ التفحص : نقرأ بسرعه للبحث عن اشياء محدده كتواريخ او اسماء
و المسح: من الممكن ان نقرأ اول سطور من كل فقره عند المسح واخر سطر 
لاكن:عند المسح لابد من قراءه السؤال اولآ ثم البحث عن الإجابه
*في الأختبار سنستخدم هذه الإستراتيجيه في حل الأسئله
[image: 13]
المطلوب في هذا السؤال هو عدد..نتهاجل كل الكلمات الموجوده في القطعه وبحث عن الأعداد الموجوده في الإختيارات
عندما نجد العدد نلاحظ المعلومه الخاصه به هل هي اللتي مطلوبه في السؤال 
اذ كانت نعم نحدد الإجابه 
وإذ كانت لا نحذفها وننتقل بالبحث الى الإجابه التالي
[image: 14]
المطلوب في السؤالا هو نسبه مئويه 
نتعامل معها كما تعاملنا مع السؤال السابق
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في السؤال لم يذكر عدد او نسبه بل ذكر علم وهو drug المطلوب منا البحث عن هذا العلم وسنجد ان بعده الإجابه الصحيحه



حلم مستحيل
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1 Emphasis
Example:
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2. A foreign word in an Engiish sentence:
Example:
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Although Mrs. Sims had lived in Hong Kong all her life, she knew very
little Cantonese.
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Don’tuse but in sentences beginning with although, even
though or while. Here is a mistake:

Although Kelvin worked harﬂ,@ he failed the examination.
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You will sometimes see the word albeit used in
formal English. Albeit can come before an
adjective, adverb, or adverbial phrase.

Example:

Jayne participated in the charity walk, albeit rather
reluctantly.
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Pulp Friction.
Every second, 1 hectare of the world's rainforest is destroyed. That's equivalent to two football fields.
A area the size of New York Cityis lost every day. In 3 yeas, that adds up to 31 million hectares —
‘more than the land ares of Poland. This alarming rate of destruction has serious consequences for the
‘environment; scientists estimate, for example, that 137 species of plant, insect or animai become-
extinct every day due to logging. In Brtish Columbia, where, since 1990, thirteen rainforest valleys
have been clearcut, 142 species of saimon have aiready become extinct, and the habitats of grizzly.
bears, wolves and many other creatures are threstened. Logging, however, provides jobs, profits,
tanes for the govemment and cheap products of al kinds for consumers, 5o the govemment is.
reluctant to restrict or control it
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PuipandPager Association, Canada supplies 34% of the worid’s wood pulp and.

5% of its newsprntpager. f tese paper BroGuCTS could be producedin e
Canadian forests coulc be praserved. Recently, 2 possible altemative way of

‘has been suggested by agriculturalistsand environmentaiists: 2 piant called hemp.

2 How much of the world's newsprint paper is supplied by Canada?
a3n%
(olss &
c%
d.19%





image13.jpeg
However, there s 2 problem: hemp is illegal in many countriesof the worid. Thisplant, so
useful for fibre, rope, cil, fuel and textiles, is  species of cannabis, related tothe plant.
from which marijuanais produced. In the late 1930s, 2 movementto ban thedrug
marijuana began to gather force, resultingin the eventual banningof the cultivation nat

only of the piantused to produce the drug, but aiso of the commerciai fibre-producing:
'hemp piant. Although toth George Washington and Thomas Jefferson grew hemp in large
quantitiesan their own land, any American grawing the piant today would san find
himseifin prison — despitethe fact thatmarijuana cannot be produced from the hemp
plant. since it containsin the drug).

Whatérug can be Sotained rom a relstve of heme?
2 Cocaine 5. herain < Amghetamine [ dJmarijuana




image1.jpeg
E The words for example, for instance, such as, and among them:

Example: Almost four billion people will be living in cities in developing
countries such as India and Nigeria.

el ieo 596 anid e Joo Lgil Lgic hgyeo uilgs a% rlial) ey
Meaning: Developing Countries : not rich country (a._.als J,z)
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Example: In some cities, instead of worsening, urban life is
getting much better.

s> 9 g puSe

Worsening = much better
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Example: The downtown shopping area is now a
pedestrian zone-in other words, an area for
walkers only, no cars.

LgLd Le s9unill g Laaey Log rliio iS
Redestrian zone@an area for walkers only.
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People spend hours in gridlock —that is, traffic so
horrible that it simply doesn’t move — when thet
commute.

Gridlock = trafficso horrible
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Uni is leadership, city planners established
priorities — in other words, a list of what was most
important.

Priorities = @ list of what was most important.
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Identifying the Main idea &
Supporting Details

Why | Want to Learn English(1) There are three reasans why | want to learn English. (2) One.
reasan s that Engish has become an international language.(3) Itis now used by most
nternationai companies, inciuding the company where | work, for business commurication.
(3) Another reason why | want to learn Engish is 5o that | can travel to Engiish-spesiing
countries. (5] The United States, Engiand, Austraia and many other countries ai use English as
their srimary language. (6) Finall, | want ta learn ngiish Secause | slan t@ move fa the U.S.
the future. (7] | will become a manager for my company soon. (8) For al these reasons, | am very
excited anout learning Engish.
\dentity the topic sentence: (1) amlaAll loie sa —aollall
Identitythe conclusion= (8) a4 miaAlY 4 fls o ooliall
ety the st mai point: (2] AasaasSy 58 Jo oo s tiall
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dentifythe third maingoint: (6} as—sassls 0555 SaIL3 5o coplin LI
Identify the support detsil forthe first main point: 3] J8¥1 &, KAL) selunl) Joaasll ga cplial)
e e et el o e e i ot (5] 4 KAl selunll Jranatll g wpliall
ety the support detail for the third main point: (7) <L) &, < ALY Lelunll (bon 421) g gLl





